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The book Nudge is based on two core principles: libertarian paternalism
and choice architecture. It is true that the phrase libertarian paternalism
sounds like an oxymoron, but according to our definition it is not. By
paternalism we mean choosing actions that are intended to make the
affected parties better of as defend by themselves. More specifically, the
idea is to help people make the choice they would select if they were fully
informed and in what George Loewenstein (1996) calls a “cold state”,
meaning unaffected by arousal or temptation. (For instance, we ask you
today how many cashews you would like to eat during cocktails tomorrow.)
Of course, deciding what choices satisfy this definition can be difficult, but
the concept should be clear in principle. The word libertarian is used as an
adjective to modify the word paternalism, and it simply means that no one
is ever forced to do anything. Choice architecture is the environment in
which people make decisions. Anyone who constructs that environment is
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a choice architect. Menus are the choice architecture of restaurants, and
the user interface is the choice architecture of smart phones. Features of
the choice architecture that influence the decisions people make without
changing either objective payoffs or incentives are called nudges.

— Richard H. Thaler (Nobel Prize Lecture)
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Write an essay on any ONE of the following in minimum 250 to maximum
300 words. It must exhibit your grasp and critical understanding of the
subject in the best possible individual style having originality of thought
and expression. It must be well-argued piece of writing coherently and
sequentially with observance of grammatical rules.

l. “India lives in her villages,” wrote Mahatma Gandhi in 1925. Analyze
the saga of India moving out of its villages.

. The measure of true potential depends on the number of golden
moments we create in a lifetime.

lll. Tokyo Paralympics: Journeys of “ability beyond disability”.
IV. Skilling the Youth of India.
V. Are we becoming too dependent on technology?

Imagine you are an Account Officer in the Audit branch in your office.
Your office is facing an issue of delay in response and non-compliance
by various government offices pertaining to the audit objections raised by
your office team which had audited such government offices. Your senior
officer has sought your opinion about the needful actions to be taken to
address the said issue. Write a letter, in about 150 words, to your senior
officer suggesting necessary measures.

As a District Magistrate draft a Press Appeal in about 150 words asking the
citizens to take precautionary measures to prevent water-borne diseases
which are widespread in your area.

Write a report in about 150 words regarding the survey carried out by
your team in a hilly tribal area regarding the financial inclusion UNDER
JAN-DHAN YOJANA.

Reflect on the following picture with meaningful observations in about 150

words.

i W e i Nb sl B4 ool

The Finance Department of the state has organized a series of statewide
training sessions for the Account Officers regarding the implementation of
a new software program which would not only be an effective and efficient
tool for audit and assessment but also offer transparency and objectivity in
administration. Draft a formal inaugural speech, in about 150 words, to be
delivered by the honorable Finance Minister who is the chief guest of the
online inauguration function of the said training series.
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Write a precis of the following passage in about one-third of its original
length:

Educational philosophy of any thinker grows from his philosophy of life.
Educational philosophy is, thus, the reflection of the general philosophy
of an individual. It cannot grow in isolation. It is unbelievable that a man
has one philosophy for life and other for education. Vinoba's educational
philosophy has grown out of his experiences in life. Moreover, Vinoba is not
an educationist only. His activities are multifarious. His contribution to the
economic uplift of the people, his efforts for uniting the hearts of the people,
his contribution to the political field, social work, literature, crafts, etc., are all
governed by a single philosophy of life. To Vinoba, mind, speech, and deed
should be in unison. Thus, it is worthwhile to know, his general philosophy
of life and see how deep its impact is on his educational philosophy.

Vinoba stands for the recognition of universal unity and sanctity of all living
beings. He emphasizes that, Godliness includes Truth, Love and Compassion.
He has faith in the continuity of life after death and that, salvation can be
attained only on the basis of the removal of feeling of 'l' and ’'mine’.

To him, Truth is indescribable but eternal and it may vary from person to
person according to one's talents and basis. Regarding knowledge, he
emphasizes the depth rather than length and breadth and expects that
knowledge should be related to spiritualism. He stands for the co-ordination of
science and spiritualism for human progress and betterment. Science would
lead to the development of scientific tendency and together with spiritualism,
it would help in bringing about a basic change, in the constitution of mode of
thought of the people, for the total revolution in the social life of the people.
Regarding the method of acquiring knowledge, he advocates meditation and
introspection so that, mastery over soul becomes possible.

Read the following passage carefully and answer the questions that follow:

The National Institute of Oceanography in Goa has developed a real-time
reporting and Internet-accessible coastal sea-level monitoring system
and it has been operational at Verem jetty in the Mandovi estuary in Goa
since 2005. The gauge uses a cellular modem to put on the Internet real-
time sea-level data, which can be accessed by authorised personnel. By
using a cellular phone network, coastal sea-level changes are continuously
updated on to a web-server. The sea-level gauge website can be made
available to television channels to broadcast real-time visualization of the
coastal sea-level, particularly during oceanogenic hazards such as storm
surges or a tsunami. A network of such gauges along the coast and the
islands that lie on either side of the mainland would provide data to disaster
management agencies to disseminate warnings to coastal communities
and beach tourism centres.

The gauge incorporates a bottom pressure transducer as the sensing element.
The sea unit of the gauge, which houses the pressure transducer, is mounted
within a cylindrical protective housing. The gauge is powered by a battery,
which is charged by solar panels. The pressure sensor located below the
low-tide level measures the hydrostatic pressure of the overlying water layer.
The microprocessor acquires the pressure data at the rate of two samples
a second. The acquired pressure data is averaged over an interval of five
minutes to remove high-frequency wind-waves that are superimposed on the
lower frequency tidal cycle. This averaged data is recorded in a multimedia
card.
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Questions:

1.

©

10.

1.
12.
13.
14.

15.

Which of the following statements is not true according to the passage?

A. The average data is recorded on the floppy.

B. The sensing element is incorporated in the gauge.

C. The pressure sensor located below the low-tide level measures
the hydrostatic pressure of the overlying water layer.

D. None of the above

The microprocessor acquires the pressure data at the rate of __
samples a second.

A. two

B. three

C. four

D. five

The acquired pressure data is averaged over an interval of five minutes
to remove frequency wind-waves that are superimposed on
the frequency tidal cycle.

A. high/ higher
B. low/lower
C. high/lower
D. low/ higher

The pressure sensor located the low-tide level measures the
hydrostatic pressure of the water layer.

A. above/overlying

B. below /underlying

C. above/underlying

D. below /overlying

Which of the following words used in the passage means ‘to circulate’?
A. gauge

B. disseminate

C. mounted

D. transduce

What has been developed by the National Institute of Oceanography
in Goa?
For which purpose is the cellular modem used?

How are the coastal sea-level changes are continuously updated on to
a web-server?

Why and when can the sea-level gauge website be made particularly
available to television channels?

For which purpose is the data provided to disaster management
agencies?

What does the gauge incorporate?

Where is the sea unit mounted?

What is the function of the solar panels?

Where has been the coastal sea-level monitoring system made
operational?

Give a suitable title to the passage




ASM-2

10.

Translate the following passage from Gujarati into English.

s, AeRAAL Al ASIRUIURNRR YA ASscAdA HIS| AW B, HlcAARA el
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Do as directed: (20 x 1 = 20)

Choose the correct answer from the given options and darken the circle (®)
as well as write the correct answer in the bracket ( CAPITAL LETTER) as per
the sample given below.

Sample Answer.: (C) (A) ~ (B) ~ (C) @ (D) ™ (E) ~
1. It that, by 2050, world population twice as much as it is
now.
appeared / would have been rising
appears / will have risen
has appeared / will be rising
would appear / has risen
. will appear / would rise
Ans.:( ) (A) " (B) " (C) " (D) " (B) ~
2. Stone , and so the tools of long ago have remained when even
the bones of the men who made them without trace.
A. didn't decay / disappeared
B. wouldn’t decay / disappear
C. doesn’t decay / have disappeared
D. won’t decay / had disappeared
E. didn’t decay / have disappeared
Ans.:( ) (A) " (B) " (C) " (D) " (B) ~
3. The practice of working woman so widespread that the working
mother now not an unusual factor in the world.

becomes / was

became/is

had become/ is

has become / is

. became/was

Ans.:( ) (A) " (B) " (C) " (D) " (B) ~

moowp

moowp

Ande ol /
OBTAINED
MARKS

§GL oLQL /
TOTAL
MARKS: 15

nnaAe QL /
OBTAINED
MARKS

§E 2Rl /
TOTAL
MARKS: 20




ASM-2

IR

The doctor advised the patient not to eat rice. (Change the voice)
A. The patient was advised by the doctor not to eat rice.
B. The patient was advised by the doctor that he should not eat rice.

C. The patient was being advised by the doctor that he should not
rice by the doctor.

D. The patient has been advised not to eat rice by the doctor.
E. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (E)

A child could not have done this mistake. (Change the voice)
A. This mischief could not be done by a child.

This mischief could not been done by a child.

This mischief could not have been done by a child.

This mischief a child could not have been done.

. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (E)

She asked me, “Did you see the Cricket match on television last
night?” (Change the narration)

A. She asked me whether | saw the Cricket match on television the
earlier night.

B. She asked me whether | had seen the Cricket match on television
the earlier night.

C. She asked me did | see the Cricket match on television the last
night.

D. She asked me whether | had seen the Cricket match on television
the last night.

E. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (E)

She asked him, “Are you going to visit the Statue of Unity?” (Change
the narration)

A. She asked him if he is going to visit the Statue of Unity.

B. She asked him if he had visited the Statue of Unity.

C. She asked him if had gone to the Statue of Unity.

D. She asked him if he was going to visit the Statue of Unity.

E. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (B) ~

The oranges are too cheap to be good. (Transform the given sentence
by removing ‘t00’.)

A. The oranges are cheap and good.

B. The oranges are cheap as well as good.

C. The oranges are very cheap good.
D.
E.

moow

The oranges are so cheap that they cannot be good.
None of the above
Ans.:( ) (A) " (B) " (C) " (D) " (E) ©
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10.

11.

12.

13.

That chocolate is not as sweet as this one. (Transform the given
sentence into comparative.)

The chocolates vary in their sweetness.

This chocolate is sweeter than that chocolate.

This chocolate is not sweeter than that chocolate.

This chocolate is sweeter than that one.

. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (B) ~©

As the number of students attending the universities _ , most

employers for higher and higher qualifications from new
employees.

is increasing / are asking

are increasing / will ask

increase / is asking

have increased / have asked

increased / has asked

Ans.:( ) (A) " (B) " (C) " (D) " (E) ~©

Heis real American hero. | haven't seen himin
five years.

A. an/the

an/ no article

a/the

a/ no article

. no article / no article

Ans.:( ) (A) " (B) " (C) " (D) " (B)

You can get there by bus or _____ foot.

on

by

with

in

. at

Ans.:( ) (A) " (B) " (C) " (D) " (B) ©

His application letter was filled
in

with

for

by

. of

Ans.:( ) (A) " (B) " (C) " (D) " (B)

moow»

moow»

moow

moows

spelling mistakes.

moowp
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17.

14.

15.

16.

Inthe USA, slaverywas ______ after a very long and disgraceful period.
A. taken up

done away with

run across

sorted out

torn up

Ans.:( ) (A) " (B) " (C) " (D) " (E) ©

By bringing up an unrelated matter, you are not being __ with your
previous statement that we should stick to the topic.

A. hostile

B. vacant

C. timid

D. edible

E. consistent

Ans.:( ) (A) " (B) " (C) " (D) " (B) ©

The robber took to his heels when the police arrived. (Select the
correct meaning of the underlined idiomatic expression)

opened fire

hid himself

ran off
surrendered

None of the above

Ans.:( ) (A) " (B) " (C) " (D) " () ~

moow

moowp

The popularity of yesterday’s superstar is on the wane. (Select the correct
meaning of the underlined idiomatic expression)

18.

A. atits peak

at rock bottom

growing more

growing less

asitis

Ans.:( ) (A) " (B) " (C) " (D) " (E)
Select the correct synonym of the word ‘Recuperate’.
Rehabilitate

Recover

Reimburse

Relocate

None of the above

Ans.:( ) (A) " (B) " (C) © (D) " (E) -

moow

moowp
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19.

20.

Select the correct antonym of the word ‘Stringent’.

General

Vehement

Lenient

Magnanimous

. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (B) ©

Select the correct one-word substitution for ‘a broad road bordered
with trees.’

Boudoir

Avenue

Boulevard

Facade

. None of the above

Ans.:( ) (A) " (B) " (C) " (D) " (B) ¥

moow»

moows




AR

ASM-3 @
Subject Code : ASM-3 EPETY
UAUSL-3 1 AL AeAA (et ulaw) OBTAINED
Paper-3: General Studies (Main Examination)
§Ccl Ll : 200 UHA :3 SCLS §eL oL/
TOTAL
Total Marks : 200 Time : 3 Hours MARKS: 10
(Qewoat-A
1. uasuis 14110
2. 61809 10 Wl Ao avdlil ©.
3. €S UKW 10 2@ 69,
4. st UAR 100 A 120 AGEIHI Qv €.
SECTION-A
1. Question No. 1 to 10
2. Attempt all 10 questions.
3. Each question carries 10 marks.
4. Answer should be given approximately in 100 to 120 words.
Y.-1 ollg Q- Slasiui ollg AoNAil (AEAL) 1 eI Yeuis 53U
Q.1 Assess the contribution of the Buddhist councils in the history of Buddhism.
Y.-2 “Ad 1A Al 20Ul 21§ A 2 AdL 2adleL” HRdH aAdAdL A3dHl Al YeRis
6113 s ilAxuellu usw 6. Al s
Q.-2 “Give me blood and I will give you freedom.” Netaji Subhas Chandra Bose is an
unforgettable chapter in the freedom struggle of India — Discuss.
Y.-3. ela oprua-u 2ulealziAl ardl Raso [Qal i il
Q.-3. Write a note on the Warli painting of the tribals of south Gujarat.
Y.-4. il AlsAUS U, 243U 2l HIMLAMA d-l Aiglas anlg ulAlBitra 53 8. wal 520,
Q.-4. The form and language splendor of the folk literature of Gujarat reflects its cultural
affluence — Discuss.
Y.-5 adlus 21 agals 2uls uafil ad-l e Anondl agals 2ulls nafvil alad wkd
2ul.
Q.-5 Explain the difference between the Tertiary and Quaternary activities and give
information of the growth of Quaternary activities.
Y.-6 “ofl Su o’ AHAAL AWEL @Al “AlA sid gl quna-ll 22l 3.
Q.-6 Explain “Green Hydrogen.” Discuss the usage of “Green Hydrogen” in day-to-day life.
Y.-7 QURAg eitel el adl cudanl A sidly daae-l Agad as dsHl seu 52 9.
22 2.
Q.-7 The Constitution of India envisages the Finance Commission as the balancing wheel

of Fiscal Federalism in India — Discuss.
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Y.-8 IR UOURS B3UL 8A WIS ALFARHE 5% URIR g1 NER sAUML 2udd “100 [Badly
Alogei”’ <) [Qginaizil areual.
Q.-8 Mention the highlights of the recently announced “100 Days Plan” for the Civil
Aviation sector of India by the Central Government.
Y.-9 aflel (st ussil eudl 2 d WeHl AR gl AHAHT YD 20dd) siSuw 6
At/ nAl A1,
Q.-9 Mention the major challanges of rural development and explain any two policies/
schemes implemented by government for it.
W-10. || curdla viaRa xiq2ian Ao (SuR1) gt [Asaami 2udai uaust (launchers) A9
u&us 52 (launch vehicles) U2 -4 Q.
Q.-10. Write a note on launchers or launch vehicles developed by Indian Space Research
Organisation (ISRO).
@ewol-B
1. ussHis 114115,
2. 68 5 UsHlHL Ao QuicuHl 8.
3. €35 UAU 20 2@ .
4. st 2UAR 200 L 250 AGEIHT @A €
SECTION-B
1. Question No. 11 to 15
2. Attempt all 5 questions
3. Each question carries 20 marks aé,"ff;,,iﬁ’
4. Answer should be given approximately in 200 to 250 words. HARKS
W1, | dwRe acuasH siel, gl 249 sugyla-l [Qodar aal s:u. p——
Q.-11. Discuss in detail the causes, strategy and outcome of Champaran Satyagraha. MARKS: 20
W-12. | 2516 a-llsw vi2d g ? Aind unaHi d-l 2000 4d1 11endl.
Q.-12. What is sustainable forestry ? Explain its importance in current times.
W13, || cuami 199101 Y vieleraran drs g w2 sami udai 2ulls yarid ugsn
AR AN AU AN uRNEUH] AHAAl.
Q.-13. Explain in the current perspective the favourable and adverse impacts of the
economic reforms made for moving towards the free economy in India in 1991.
W14, || 2iciousml 20804 3 vid “GuRg WA 2 2sBid s3uidl “sami 2uadi vl — 24
6im, AU GUAAL . AN 241 GELSRUAS AHAAl.
Q.-14. In budget “Expenditure charged upon” the Consolidated Fund and “Expenditure
made from” the Consolidated Fund are two different things — Explain with provisions
and examples.
W15, || dAlgdHi ¢iRd 12513 2l 51H &m Yrio[dd s HI JHIRAL E1A 5L 6. 241 Y1
[Agincuil 244 ugcarll 2l 531
Q.-15 The Government of India recently introduced reforms to revive the telecom sector —

Discuss the highlights and significance of these reforms.
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Subject Code : ASM-4
Paper-4: Accountancy and Auditing-1 (Main Examination)
§ct JlLL : 200 UHY 3 SClS
Total Marks : 200 Time : 3 Hours
(@ewoL-A
1. ysisuis 1 ¢l 10.
2. oLl % 10 Yslloll cllol Aucloll 8,
3. €& Uslell 10 9QL B,
4. ocllol AAR 100 Ul 120 AGEHL Avcllsll 8.
SECTION-A
AOAd dJul /
1. Question No. 1 to 10. OBTAINED
MARKS
2. Attempt all 10 questions.
3. Each question carries 10 marks. —
4. Answer should be given approximately in 100 to 120 words. TOTAL
MARKS: 1
Y-1. “oRaul [Sarell HiRRIAL HHA A AHA A URAL R soug ©97- 20 [QunHl -
(Adarcns 2l $31.
Q.-1 “Implementation of Accounting Standards in India is a criminal waste of time and
money”— Critically examine the statement.
Y.-2. “aicez-l [R[as=s Hide 244 2l et BlAs+s Wida a2 yneyd SIS dsiad =el.” — quendl.
Q.-2. “There is no basic difference between Walter’s Dividend Model and Gordon’s
Dividend Model.” — Explain.
Y.-3. MIRAL S1UZLAR i3 2322 Rl eyffisi-l [Qotdaiz w2l 521,
Q.-3. Discuss in detail the role of Comptroller and Auditor General of India.
Y.-4 “RHINUAUBUAS B VUASL UAS 5l Ay AR [Aseu 8.7- uHanal .
Q.-4. “A Funds Flow Statement is a better substitute for an Income Statement.” — Discuss.
Y.-5. 2ial ui Gelswll Rual 5 ol 21ouB-L ani-ll 2ias 2526l auHl ted 2uB-L auHi %
2us16fluiat giu.
Q.-5 State any five instances where the income of the previous year is assessable in the
previous year itself instead of the assessment year.
Y.-6. “512) UAY A (20100l AUt A5 554 naHellu yua 8.7 Rl s:1.
Q.-6. “A Trial Balance is only prima facie evidence of the accuracy of the books of
accounts.”’ — Comment.
.7 6i[F501 Su-fl- s [Rauotl AoilAd s1ag18ld AdAUS L AHoAAl.
Q.-7. Explain the legal provisions relating to the final accounts of a banking company.
Y.-8 Al (el Al ugld’ 247 e ugld’ a-l dsiad e 52U
Q.-8. Differentiate ‘Pooling of interest method’ and ‘Purchase method’ of accounting for

amalgamation.
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Y.-9.
Q.-9.

U.-10.

Q.-10.

U.-13.
Q.-13.

U.-14.

Q.-14.

Y.-15.
Q.-15.

(S2uell vaial 241 [Suell wenlast 4L dsiad e 2.

Distinguish between Accounting Concepts and Accounting Conventions.

(agell quvitu s12u uAuA You 2AEUU AAART UIR 521 WL [RUH] AHonal. 20
Ui uRuH BeMad dstad wd 5d {ld uagi s2eU?
State the rules for conversion of a foreign branch trial balance in the currency of
the Head Office. How would you deal with the difference in exchange resulting on
account of such conversion?

(Qewor-B
ussuis 11 ¢l 15.
oltl % 5 Yslloll ¥cllol Audlloll 8.
€35 Usloll 20 Ll B.
ogcllol AR 200 YUl 250 AGEWML Avcllall B.

o bd=

SECTION-B
Question No. 11 to 15
Attempt all 5 questions.
Each question carries 20 marks.

P WNR

Answer should be given approximately in 200 to 250 words.

“ylareunt Rigidl 2 4l usd i Ul yeu aai- Agilds Aqvidl annd 6.7 20
[t [Qda-ucns 2l s,

“Capital Structure theories explain the theoretical relationship between cost of
capital and the value of the firm.” — Critically examine the statement.

@llerdl udlui tualleiRiu an uR dlda “iysd @an dli @A ) [Baell il 54l
Ad an 97 [QoraaR anadl.

How the arrangements regarding “Joint Life Policy” on the lives of the partners is
recorded in the accounts of a partnership firm? Explain in detail.

$2 BUALY, 52 20l 2 5 AULL QAL dslad Aoy LS8 gIRL AHA.

Differentiate between tax planning, tax avoidance and tax evasion with appropriate

illustration.

su-dl w1 20130 2ol yoror 322l [Ruas, g2 sa, 2SR 214 5204 -l 2l
5.

Discuss the provisions of appointment, removal, powers and duties of an auditor as
per the Companies Act 2013.

Rel=aR ud s 2i0-l [alay uglazil Gersw Al AlArdR unAal.

Describe the various methods for redemption of debentures with illustrations.

Andd 2Ll /
OBTAINED
MARKS

5 9JQL /
TOTAL

MARKS: 20
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Subject Code : ASM -5
Paper-5 Accountancy and Auditing-2 (Main Examination)

§CE LR : 200 AU 3 SAlS

Total Marks : 200 Time : 3 Hours
@Qeuwot-A

yatsHis 1 ol 10.

oltl % 10 YUsllell %cllol Aulclladl 8.

€35 Uslall 10 9Ll B.

arclled AR 100 Ul 120 ACELHL Awcllell 8.
SECTION-A

ownh =

Question No. 1 to 10.

Attempt all 10 questions.

Each question carries 10 marks.

Answer should be given approximately in 100 to 120 words.

“zts[\m (S2uel ugla 2A [Bir-2slAa [0l ugld sq1 ay alRudl €9”- [ wal.

“Integrated Accounting System is far superior to Non-Integrated Accounting
System” - Discuss the Statement.

CHIRANL g 247 Al 51U SLAEIHE SUUA A% ANAR AU 2l 53U
Discuss the State Compensation Mechanism provided under GST Act in India.

BwnNPR

“6119oU3] 24 HelHl Raldn aarsitla Allazti-u Guaial gkl G3el s 6 - g ad 21
[Regrt A2 ASHA 6917 dHIRL FAUGIA =41 2L

“Unemployment and recessionary trends can be solved through the use of Fiscal
Policies”- Do you agree with this statement? Justify your answer.

(Rud 2iviy [Qeduani adat 2d 2 2uHRd A4 23 Aoid s Sl 9”- 2 [QnA
[Rud oy [Aedua-l mzeni- ieel 2l.

‘In a Regression Analysis the relationship between independent variable and
dependent variable is linear’ — Discuss this statement with reference to Assumptions
of Regression Analysis.

‘Sasas oil-sa He selsly v A aurdul S-6il30 9aUdl 2esiaad Yo
SR 8- [Afr ANANAL 21 HIRANE G-GUF5L HIZ UL A STUELSIL WU UR AL SR,
‘Legal framework for Electronic Banking is one of the major weapons of preventing
e-banking frauds in India’ — Explain the statement and discuss on existing legal
framework for e - banking in India.

s 2R Ul e Anaarll 2 vid: ndall Bud Raike Qa2 a2d dsiad e
520 25 Ul gt (Al Brd [Raie Dl sigaran sirel g 97

Distinguish between Skimming and Penetrating Pricing Policies of a business firm.
What are the reasons for firms to follow different pricing policies?

9], ¥ g ML 691 5 USR Qg2 2 UddR U1l A i [Rugsi-ll ol buog 697 o331 s1e1l 2udl
ARl Gri awoll &al.

Do you think that Cost Control and Cost Reduction are two sides of one coin? Justify
your answer with necessary reasons.

Ande oL /
OBTAINED
MARKS

§CL oQL /
TOTAL
MARKS: 10
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Y.-8.
Q.-8.

U.-9.
Q.-9.
U.-10.

Q.-10.

Q.-12.

Q.-13.

9] avg, 21 Aal 5241 §-d B AR saumidl S5 Y3d 97- unenal.

Is there any exemptions from generation of E-Way Bill in GST? Explain.

ARV ALY RIS 2 -l wanl ar3Raudl uxadl.

Explain the Constraints in Linear Programming and basic requirements of it.
‘Adeuadl [Ree uHira dd [Bir-zicnadl Reainll daqimi 2ady 2uuami 20d 8.- 21

QA w0 w95 [Aeai-l uigol-l ulsa d Anenal.

‘Probability sampling is generally preferred in comparison to non-probability

sampling’— Explain the statement with procedure of selecting a simple random sample.
(Qewol-B

yasHis 11 &l 15.

oltl % 5 Yslloll ¥cllol Awclloll 8.

€35 Udloll 20 L0l B.

agcllol AR 200 Yl 250 AGELHL cAvclloll 8.

SECTION-B

Pobd=

Question No. 11 to 15
Attempt all 5 questions.
Each question carries 20 marks.

» WNhR

Answer should be given approximately in 200 to 250 words.

UHIRL USAR Ugld’ i viglrusdlu 2iga usld’ a2l dsiad axadl. siiam vielulla
2iga ugla-l 2amuq e puagus g3Rudl 56 872

Distinguish between ‘Standard Costing’ and ‘Budgetary Control’. What are the
essential requirements for installing an efficient system of ‘Budgetary Control’?
2R AR 2 22 d g? AidlRs A vl s Hoaaul 2241 56 97 Aidls Ay -l
gLl s W2 s1aL s 697 oil=501 Su-l-u Ae™ul AR du -l [Alve AaaS -l
Ul 43U

What is Input Tax Credit (ITC)? What are the conditions for availing ITC? Who is
eligible to claim I'TC? Discuss the special provisions for ITC in the case of banking
company.

“RURAHL [RUos wid Heldvi udlas (CAG) A auRd-l Al ile A1 a3t 9”- 21
Qe Anoal. AL iR Ml [Rdas 214 wsidvi udlas (CAG) dbilfa sitnelly
LSzl 2l 52,

“The Comptroller and Auditor General of India (CAG) is the head of Supreme Audit
Institution of India” — Explain this statement. Discuss on Constitutional Provisions
related to CAG in the Constitution of India.

Hd wulddl dRinA culid s, il oi-si-n Aeeul 4RRsH afld g 3d
waltddil AeeHi 2uda dennal (2 2l s2u.

Define Capital Adequacy Ratio. Discuss the recommendations of Narasimham Committee
on Capital Adequacy measures with particular reference to Commercial Banks.

“SomRl 2 SAnAYs 8515 A vsollonell el 87- 20 [Ann uuenal. SoAysd
831518 vidold U Adan-ll xiatieu-dl a3l 2.

“Monopoly and Monopolistic Competition are different from each other” — Explain the
statement. Discuss the concept of Group Equilibrium under Monopolistic Competition.

Ande 9l /
OBTAINED
MARKS

§E 9L /
TOTAL
MARKS: 20




